Sistemas Lineales Dependientes (G)

Grafique cada sistema e identifique el sistema dependiente.

1. y=gr—1 2 y=3r+3
10z — 9y = —18 9z — Ty = —49
o 10
9 9
8 8
7 7
6 6
5 5
4 4
3 3
2 2
1 1
0 0
—U-9-8-7-6-5-4-3-2_] 1 6 7 10° —U-9-8-7-6-5-4-3-2_] 4 4 or
_‘2 —‘2
-3 -3
_‘4 —‘4
_‘5 —‘5
7‘6 7‘6
_‘7 —‘7
_‘g —‘8
,‘9 7‘9
_1‘0 —1‘0
Solucién: (_—__,____) Solucién: (—__,___)
_ 4
3. y=zr—1T 4. 5z + 2y = 18
dor — Ty =49 y=—x+3
o 10
9 9
8 8
7 7
6 6
5 5
4 4
3 3
2 2
1 1
0 0
—1(-9-8-7—-6—-5—-4-3-2 _‘1 1 5 7 10°® —1(-9-8-7-6—-5—-4-3-2 _‘1 1 5 7 0ot
_‘2 —‘2
,‘3 7‘3
_‘4 —‘4
_‘5 —‘5
7‘6 7‘6
_‘7 —‘7
—‘S —‘8
,‘9 7‘9
_1‘0 —1‘0
Solucién: () Solucién: ()

MatesLibres.com




